
Effective July 18, 2025
Modified July 21, 2025

Parts List 
01C/CN/CNV, 02C/CN/CNV, 03C/CN/CNV Trim

Item Order Part # Description List Price

1

102219-9 Trim Pullplate, 01C (Wide: BP1 or BP11) $170.64

102228-9 Trim Pullplate, 01CN (Narrow: BP2) $149.04

105633-9 Trim Pullplate, 01CNV (Narrow CVR: BP10) $120.96

102218-9 Trim Pullplate, 02C (Wide: BP1 or BP11) $170.64

102227-9 Trim Pullplate, 02CN (Narrow: BP2) $170.64

105632-9 Trim Pullplate, 02CNV (Narrow CVR: BP10) $120.96

102217-9 Trim Pullplate, 03C (Wide: BP7 or BP13) $151.20

102226-9 Trim Pullplate, 03CN (Narrow: BP8) $170.64

105631-9 Trim Pullplate, 03CNV (Narrow CVR: BP12) $165.24

2 102235-9 Pull, 03, 02, C, CN $201.96

3

102271-136 1/4-20 x 2-1/4" Screw, S/S, PFH (02, 03 w 1-3/4" to 2" Door) $1.17

102271-144 1/4-20 x 2-3/4" Screw, S/S, PFH (02, 03 w 2-1/4" Door) $1.17

102271-116 1/4-20 x 1" Screw, S/S (01 All) $1.17

4 102272-2 1/4" Finish Washer, S/S (01, 02, 03) $1.17

5 102264-1 Screw, 1/4-20 x 1/2", Undercut, PFH (02, 03) $1.17

6
100752-9 Cylinder Collar, Tall (03) $49.00

105227-7 Tapered Cylinder Collar, CVR (03) $165.24

7
101454-1 Tailpiece Assembly (03) $14.74

105238-3 Tailpiece Assembly (03, CVR) $141.48

8
101480-1 Tailpiece, 03 $5.67

105239-1 Tailpiece, 2.25 THK Door (03, CVR) $52.92

101285   Page 2

03C(N)
FUNCTION

02C(N)
FUNCTION

01C(N)
FUNCTION

1 1 1

23

4

5

6

8

7

23

4

5

ITEM

2

3

4
5

6

7

8

PART NO.

102235-9

102271-144

102272-2
102264-1

105227-7
101454-1

101480-1

QTY

1

1

1
1

1

1

1

DESCRIPTION

PULL, 03, 02 C, CN

1/4" FINISH WASHER, S/S (01, 02, 03)
SCREW, 1/4-20 X 1/2", UNDERCUT, PFH (02, 03)

TAPERED CYLINDER COLLAR, CVR (03)
TAILPIECE ASSY (03)

TAILPIECE, 03
105239-1 TAILPIECE, 2.25 THK DOOR (03, CVR)

105238-3 TAILPIECE ASSEMBLY (03 CVR)

100752-9 CYLINDER COLLAR, TALL  (03)

102271-136 1/4-20 X 2-1/4" SCREW, S/S, PFH (02, 03 w 1-3/4" TO 2" DOOR)
1/4-20 X 2-3/4" SCREW, S/S, PFH (02, 03 w 2-1/4" DOOR)

102271-116 1/4-20 X 1" SCREW, S/S, PFH, (01 ALL)

1

102219-9

1

TRIM PULLPLATE, 01CN   (NARROW BP-2)
TRIM PULLPLATE, 01C     (WIDE BP-1 OR BP-11)

TRIM PULLPLATE, 01CNV (NARROW CVR BP-10)
102228-9
105633-9
102218-9

TRIM PULLPLATE, 02CN   (NARROW BP-2)
TRIM PULLPLATE, 02C     (WIDE BP-1 OR BP-11)

TRIM PULLPLATE, 02CNV (NARROW CVR BP-10)
102227-9
105632-9
102217-9

TRIM PULLPLATE, 03CN   (NARROW BP-8)
TRIM PULLPLATE, 03C     (WIDE BP-7 OR BP-13)

TRIM PULLPLATE, 03CNV (NARROW CVR BP-12)
102226-9
105631-9

3

4

Cylinder
with

hardware
sold

separately


